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T1223 /T1485 ELECTRICAL NETWORKS

(3 Hours) | Total Marks : 80

N.B.: (1) Question 1 is compulsory,
(2) Solve any three questions from remainin g five questions,
(3) Figures to the right indicate full marks.
(4) Assume suitable data if necessary,

1. Attemprt the following
(a) Find the condition of symmetry for Z parameters.
(b) What is network synthesis, Construct the circuit for

Z(s) = 45—!—2-}--- 155— ' .
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(¢) Derive the s- domain equivalent for inductor with in ent
I, and capacitor with initial voltage Vo.

(d) Express Y parameters of two port network in t
currents and voltages.
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2. (a) For the given network draw an oriented gra
I~ tieset matrix.

(b) What will be the
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3. (a) For the network shown in figure, switch is closed at t=0, determine 10

dv d*v
e ik fEl,

Yt dt?

: @
(b) In the RL circuit shown, switch is in positionl long @0 establish 10

steady state condition. At t=0, switch 1s ch to position 2.
Find i(t)
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b) Find thé drivi WeT— . .
(_ ) ne dri Ing point a.dlnlltﬂﬂf}& Y] | and transfer admittancs 'fl:
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(b) Synthesize the following f Q
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(b) Find the Norton's equ.h;ﬂlent across A-B in the figure shown. 5
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(¢) Write the mesh equations for cireuit
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